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Gas Stoichiometry: At STP and non-5TP

3. D.5001L of H,{g) reacts with excess 0,{g) am according to the equation: 2 Hy(g) + 0,(g) & 2H,0(g)
What volume of water is produced?
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4. 0.5001 of H,{g) reacts with excess 0,{g) at 1.00 atm and 350°C according to the same equation

a. Would you expect the volume of water to be less than, equal to, or greater than the amount of water
produced at STP in question #3? Justify your answer.
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Molarity Stoichiometry: Solutions to All Your Problems

#Note: millimoles {or mmol) can be your BEST friend during solution stoich!

mmol
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1. 250 mib of 0.70 M LisPO, and 250 mi of excess Ca{OH); are mixed, producing an agueous LiOH solution fand a
caicium phosphate precipitate). What is the molar concentration of LIOH in this solution?
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2. Calculate the mass of Ag,S produced when 125 mi of 0.200 M AgNQ, is added to excess Na,S solution.

A Na,S{aq) + _?_-_AgN()g (ag) — _i_ Ag,S(s) + ?; NaNO,(ag}
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3. 50.0 mb of Mg{OH}; is used to neutralize 35.0 mL of 0.60 M HBr. What,ps’the;\mo arity of the Mg{OH}L?
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Molarity Stoich Shortcut: M,V = M,V

‘2105 mmol MSLLDH")?,

This shoricut is usef

# IF you are starting and ending with molarity, and

s  the species compared have a2 121 male ratio

4. 125 mi of KOH completely neutralizes 57.0 mb of 1.20 M HBr. Calculate the initial concentration of KOH.
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